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Mandatory Annuities in Different Countries

• The need to ensure people have adequate savings for 

retirement has prompted debate among regulators and 

academics.

• Certain countries have implemented or are considering 

implementing mandatory minimum annuity laws (e.g., 

Singapore and Israel)

• Others have repealed or are considering repealing such 

legislation (e.g., the U.K.).
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Mandatory Annuity

Potential advantages

• Mandatory annuitization has many 
potential advantages:
– protection against longevity risk

– shifting of investment risk

– stability of consumption patterns 

– reduction of adverse selection (of health 
condition) in the annuity market.

Potential disadvantages

• Mandatory annuitization has 
disadvantages: 
– the risk that a retiree will lack the 

resources needed for an unexpected event 
(i.e medical shock)

– re-distribution of wealth (due to pooling of 
longevity risk)

– risk of insurer insolvency and other risks. 
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Methodology

• DATA

• FIELD EXPERIMENT

• SURVEY

• LAB EXPERIMENT
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Aim: Consequences of initiation and repeal of a minimum annuity 
law under various conditions



Methodology

– Students survey

– (Age) Representative sample survey

– Controlled laboratory experiment
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Why Surveys? Students + Age Representative

1. It helps us capture information regarding perceptions 

2. Substantial amount of subjects

3. Verified representative sample of the population aged 50-70 
that are actually close to retirement 

4. Students (the more common subjects in academic research) 
- compare the results
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Why Lab Experiment

1. Validation of the survey results.

2. Control of the information conditions and the exogenous 
stochastic processes.

3. Enables to repeat the decision dilemma in order to test for 
possible learning effect

4. Monetary rewards related to the task.
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Survey

• Asked to divide a total sum of money that was saved to 

retirement between annuity and lump sum

• 3 conditions:

– 1. Control

– 2. Mandatory law

– 3. Repealed Mandatory law 
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Survey Structure

Condition 1 – without mandatory annuity

At retirement, a retiree can generally choose between an annuity and a lump-
sum withdrawal from his pension savings, with respect to each retiree’s 
conversion factor. Assume that you have saved NIS 2 million and your 
conversion factor is 200. What does 200 hundred mean? It means that if you 
choose an annuity of NIS 1,000 a month, the accumulation required for the 
annuity is 1,000 ∗ 200 = 200,000 and the remainder can be withdrawn as a 
lump-sum amount of NIS 1.8 million (2,000,000−200,000). In these terms, what 
is the monthly annuity you would choose if you were to retire today (you would 
receive the remaining amount as a lump sum today) ______________
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Survey Structure

Condition 2 – with a mandatory annuity of NIS 4,000 

At retirement, a retiree can generally choose between an annuity and a lump-
sum withdrawal from his pension savings, with respect to each retiree’s 
conversion factor. Assume that you have saved NIS 2 million and your 
conversion factor is 200. What does 200 hundred mean? It means that if you 
choose an annuity of NIS 1,000 a month, the accumulation required for the 
annuity is 1,000 ∗ 200 = 200,000 and the remainder can be withdrawn as a 
lump-sum amount of NIS 1.8 million (2,000,000−200,000). According to State of 
Israel laws, there is a mandatory minimum annuity of NIS 4,000 a month. In 
these terms, what is the monthly annuity you would choose if you were to retire 
today (you would receive the remaining amount as a lump sum today) 
______________
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Survey Structure

Condition 3 –mandatory annuity of NIS 4,000 was repealed

At retirement, a retiree can generally choose between an annuity and a lump-
sum withdrawal from his pension savings, with respect to each retiree’s 
conversion factor. Assume that you have saved NIS 2 million and your 
conversion factor is 200. What does 200 hundred mean? It means that if you 
choose an annuity of NIS 1,000 a month, the accumulation required for the 
annuity is 1,000 ∗ 200 = 200,000 and the remainder can be withdrawn as a 
lump-sum amount of NIS 1.8 million (2,000,000−200,000). In the past, State of 
Israel laws stated a mandatory minimum annuity of NIS 4,000 a month; these 
laws were recently repealed. In these terms, what is the monthly annuity you 
would choose if you were to retire today (you would receive the remaining 
amount as a lump sum today) ______________
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Students Survey
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Representative Sample Survey
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Distribution of Annuities
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Representative Sample SurveyStudents Survey



Distribution of Annuities

Students Representative Sample
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Survey Results
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• Students Survey

• Representative Sample Survey



Choosing an annuity

Lower or Equal to 4,000

• annuity≤4,000 = α + β1Condition2 + β2Condition3

+ β4age61−70 + β5male + β6single + β7married
+ β8divorced + β9widowed + β10smoker + β10past smoker
+ β11chance85 + β12chance95 + β13income
+ β14very good health + β15good health + ϵi
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Condition 2 is significant
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Choosing an annuity

Lower or Equal to 4,000



Sum - Survey Results

• Whether participants were told that the mandatory 

minimum annuity law was in effect (Condition 2) or 

repealed (Condition 3), their demand for annuities were 

higher compared to the control group (Condition 1).
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Annuities, Consumption and Income
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Lab Experiment Design

• Choosing an annuity, out of “zuz” 2 Million.

• Incentives: participants were told that their life expectancy will be 
drawn from a set ranging from 0 to 360 months with an average of 
200 months and the outcome of the draw would be revealed only 
after they chose their annuity.

• The consumption will distributed between the values:
– Low consumption condition – 3000, 4000, 5000 “zuz” per month.

– High consumption condition - 8000, 9000, 10000 “zuz” per month.
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Lab Experiment Design
• Conditions:

– No required annuity

– Mandatory annuity (4000)

– Mandatory annuity was cancelled (4000)

• Amounts saved were paid to participants:
– Monthly savings (annuity chosen less consumption).

– Chosen Lamp-Sum (after using it to pay for 
consumption).

• Payment for participants – from $8 to $40.

• 2 rounds – same condition.
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Descriptive Statistics
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• 277 students participated in the experiment:



Results – round 1
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Experiment Results

• Regulatory requirements might serve as a signal that 

leads to anchoring on the regulatory minimal values.

• Mandatory minimum annuity will not necessarily increase 

the annuity amount people choose.

• A repeal of the constraint can be expected to weaken the 

effect but not necessarily to cancel it. 
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Implications

• We conjecture that merely mentioning a minimum annuity 

level as a recommended level for withdrawal might be 

sufficient to create a behavioral change without imposing 

it as a regulation. 

• The results are of impact for other policy discussions, 

such as speed limits and health recommendations.
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